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cos(t) —sin(t) 0
R.(t) = | sin(t) cos(t) 0 (2.1)
1

0 0
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cos(t) 0 sin(t)
R)=| 0 1 0 (2.2)
—sin(t) 0 cos(t)
zU0Ooooooooooog,
cos(t) —sin(t) 0
R.(t) = | sin(t) cos(t) 0 (2.3)
0 0 1
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cos(rl) cos(r2)
= R,(r1).R,(r2).(1,0,0) = | sin(r1) cos(r2)
— sin(r2)
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r2 = —arcsin(Z1)
rl = arccos(X 1/ cos(rl))

goobooogobobooooboboboooon

R1 = r1 x (180/x)
R2 =12 x (180/m)

(2.12)

(2.15)
(2.16)
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3.1 OO0Ooog

gobboobobboodogoooobbboobbboogoooboo
OO000310000000Ruby D balOODOOOOODOODOOOOO
OOobDoO0o0o0ooboOobooogobooosico 3C4H,6HO 3000
OO0O0oDO00o00oo0oooo0obooooboobooboOoboOogbald
stickDOOOODO0OD0OO0O0O00O0bOOo0bOo0boodnogd Rubyd O
OOOMELOOODOOODOOODOOOOORubyD MELODOOODOO
gobobobbobbobotbdddooooouoboooboboboooobbo
gbobobooodgobobod

3.1.1 RubyUOQOQooooog

RubyOOOOOOOODOOODOOOOOOOODOOODOODOO

#!/usr/bin/ruby

include Math

require ’yaml’

require ’pp’

require "matrix"

require ’nabe_light_script’

filenamel="00000000000000000000000 txt”0O
obobobooobobooMELOODOODOOOOODOOODOODOD
OoO0’0boobobotmel’ld 00000000 0ORuby0 OO OoQon
OMELOOOODOOOOODOODOODOOObDODOODOODOO
000 infile = Fileread("O0 00 0000”)0000000DOOO (OO
00000)00000oDooOooO0o0OoUooooooooOod

11
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,ouby 0O OOOOO.rb
O0000000000000.melOOOODOOO

filenamel="camera_ball_4h.mel"
filel = File.open(filenamel,"w")
infile = File.read("vector_data_4h")

0000000000000 0000000000000000 (primitive
O00D0)0D0D00D0O0OD0O0ODO0ODO000C0COO0OOCOOOOOOOoOOO
OO000bO0bO0oO0o0O0oo0oboDob0obobobooooooboD sig e
gboobuoogooboo

p_vec=[]

for i in 0..2
pl= infile.grep(/a.*$/) [i].split(/=/) [1].chomp.split(/ +/)
p_vec.push Vector([p1[1].to_f,p1[3].to_f,p1[2].to_f]

end

numl=infile.grep(/Basis Vectors.*$/) [0].split(/:/) [1].to_i/2

si_ball=[]
for i in O..numl-1 do

pl=infile.grep(/Si /) [il.split(/ +/)

si_ball.push Vector[pi[1].to_f,p1[3].to_f,p1[2].to_f]
end

c_ball=[]
for i in 0. .numl-1 do

pil=infile.grep(/C /) [il.split(/ +/)

c_ball.push Vector([p1[1].to_f,p1[3].to_f,p1[2].to_f]
end

ball0=[]

element=[]

#si_c_num=si_ball.size

for i in O..numl-1 do
ballO.push si_ball[i]

13



element.push O
ballO.push c_balll[i]
element.push 1

end

ballE=element

balll=[]

unitcell=[]

for i in 0..ballO.size-1 do
balll.push p_vec[0]*ballO[i] [0]+p_vec[2]*ballO[i] [1]1+\\
p_vec[1]x*ball0[i] [2]
unitcell.push p_vec[0]*ballO[i] [0]+p_vec[2]*ball0[i] [1]+\\
p_vec[1]x*ball0[i] [2]

end

goodbubobbobboobooubuooboobooboobo
gboboboogobbooad

unitcellE=element
unitcell=balll
unimax=unitcell.size
n=1

nn=1

def unitcell_plus(balll,ballE,unitcell,unitcellE,p_vec,n,nn)
y_vec=Vector[0,10.084,0]
unimax = unitcell.size

for p in —n..n do
for q in -n..n do
for k in 0..nn do
for i in 0. .unimax-1 do

if p==0 && q==0 && k==0 then next

else
balll.push unitcell[i]+p_vec[0]*p+p_vec[1]*q+y_vec*k
ballE.push unitcellE[i]

end
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end
end
end
end
return balll
end

def unitcell_plus2(balll,ballE,unitcell,unitcellE,p_vec,n)
unimax = unitcell.size
for p in -n..n do
for q in -n..n do
for i in O..unimax-1 do
if p==0 && g==0 then next
else
balll.push unitcell[i]+p_vec[0]*p+p_vec[1]*q
ballE.push unitcellE[i]
end
end
end
end
return balll

end
balll = unitcell_plus(balll,ballE,unitcell,unitcellE,p_vec,n,nn)

#y_vec=Vector[0,10.08506484,0]
unimax = ballO.size
p=2
#nn=2
for q in 0..1 do
# for p in 0..nn do
for i in O..unimax-1 do
if p==0 && 9==0 then next
else

15



balll.push unitcell[i]+p_vec[0]*p+p_vec[1]*q
ballE.push unitcellE[i]
end
end
#end
end

nmax=balll.size

uni_num=nmax/ball0.size

MELOOOOOODOODOOODOO

filel.print <<"EOB"
setAttr \"lambertl.color\" -type double3 1 1 0;

shadingNode -asShader lambert;

sets -renderable true -noSurfaceShader true -empty —-name lambert2SG;
connectAttr —-f lambert2.outColor lambert2SG.surfaceShader;

select -r lambert2;

setAttr "lambert2.color" -type double3d 1 1 1;

EOB

filel.print <<"EOB"

shadingNode -asShader lambert;

sets -renderable true -noSurfaceShader true -empty -name lambert3SG;
connectAttr —-f lambert3.outColor lambert3SG.surfaceShader;

select -r lambert3;

setAttr \"lambert3.color\" -type double3 0.4 0.4 0.4;

EOB

filel.print <<"EOB"

shadingNode -asShader lambert;

sets -renderable true -noSurfaceShader true -empty -name lambert4SG;
connectAttr —-f lambert4.outColor lambert4SG.surfaceShader;

select -r lambert4;
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setAttr "lambert4d.color" -type double3 1 0 1 ;
setAttr "lambert4.transparency" -type double3 0.5 0.5 0.5 ;

EOB

filel.print <<"EOB"

shadingNode -asShader lambert;

sets -renderable true -noSurfaceShader true -empty -name lambert5SG;
connectAttr -f lambert5.outColor lambert5SG.surfaceShader;

select -r lambertb;

setAttr "lambertb.color" -type double3 1 1 1 ;

EOB

filel.print <<"EOB"

shadingNode -asShader lambert;

sets -renderable true -noSurfaceShader true -empty -name lambert6SG;
connectAttr -f lambert6.outColor lambert6SG.surfaceShader;

select -r lambert6;

setAttr "lambert6.color" -type double3 1 0 O ;

EOB

filel = nabe_light(filel,0.6)
MELOOODOOOODOOOOOOD

filel.print <<"EOB"

global proc make_Si(float $x,float $y,float $z)
{

sphere;

scale 0.5 0.5 0.5;

move $x $y $z;

}

global proc make_C(float $x,float $y,float $z)
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{

sphere;

scale 0.5 0.5 0.5;

move $x $y $z;

sets —e —-forceElement lambert3SG;
}

global proc make_0(float $x,float $y,float $z)
{

sphere;

scale 50 50 50;

move $x $y $z;

sets —-e —-forceElement lambert5SG;
}

global proc make_cylinder(float $x,float $y,float $z,float $b2,
float $a2)

{

cylinder;

scale 1.0 0.2 0.2;

move $x $y $z;

rotate 0 $b2 $a2;

sets —e —-forceElement lambert2SG;
}

global proc make_wireframe(float $x,float $y,float $z,float $b2,
float $a2,float $sa)

{

cylinder;

scale $sa 0.05 0.05;

move $x $y $z;

rotate 0 $b2 $a2;

sets -e —-forceElement lambert6SG;
}

EOB

OOo0ooboOobOoboosio cbobobooooooooo

n_ballE=ballE.size
for i in O0..n_ballE-1 do
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if (ballE[i]==0)
filel.printf ("make_Si(%7.5f,%7.5f,%7.5f);\n",ball1[i] [0] ,ball1[i] [1],
balli[i] [2])

else
filel.printf ("make_C(%7.5f,%7.5f,%7.5f);\n",ball1[i] [0] ,ball1[i] [1],
balli[i] [2])

end

end

DohogboobobogbpalDbOo0booboobooooboonbog
goo

comb_tmp=[]
for i in 0. .nmax-1 do
for j in i+1..nmax-1 do
tmp_vector=balll[i]-ballll[j]
if tmp_vector.r < 2.0 then
comb_tmp.push([i,j])
end
end

end

gobobobbbbodddooooooobobbo3sgouuooobobooo
O00OstickO0ODOOOODOOOOMAYAOODOODOOOyODOOO
gobbobobbodoooooobobbobboodoooooobooon
OO000oOif000oboboo0ooOoMAYAOODOODOOOGoooOooOo
OO00D0000O0OstickDOOODODOODOOOOOSiICOODOoO4000
gobbobboogoobbobo2uooobbbbuooooobbn
OoOOb0OstickOODOOOOO

comb_tmp.each{|1ij]|
half_v=(balll[ij[0]]+ball1[ij[1]1]1)*0.5
tmp=balll[ij[0]]-balll([ij[1]]
if tmp[1] < O then
dir_vec=ball1[ij[1]]-balli[ij[0]]
else
dir_vec=ball1[ij[0]]-balli[ij[1]]
end
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x=dir_vec[0]

y=dir_vec[1]

z=dir_vec[2]

aa=1/sqrt (x*x*2+y**2+z**2)

x1l=x*aa

yl=y*aa

zl=z*aa

bl=-asin(z1)

al=acos(x1/cos(bl))

a2=a1*180/PI

b2=b1*180/PI
filel.printf ("make_cylinder (%7.5f,%7.5f,%7.5f,%7.5¢%,
%7.5f,\n,half_v[0],half_v[1],half_v[2],b2,a2)

}

primitive DU O OOD0DO0O0O0O0O000O0O00O0OOOUOUOprimitive O
OO00b0O00O0wiredOOODOOwireDODOO stickODOODOOOOO
ObooboboOOwired OO stickDOOODODOOOOOOOOOOODO
gbbobuoogobbbooobbbuooobobbbooobbboo

def wire_frame(p_vec,filel)

toga = [ Vector[0.0, 0.0, 0.0],
Vector [p_vec[0] [0] ,p_vec[0] [1],p_vec[0] [2]],
Vector [p_vec[1] [0] ,p_vec[1] [1],p_vec[1][2]],
Vector [p_vec[2] [0] ,p_vec[2] [1],p_vec[2] [2]],
Vector [p_vec[0] [0]+p_vec[1][0],p_vec[0] [1]1+p_vec[1][1],\\
p_vec[0] [2]+p_vec[1][2]],
Vector [p_vec[0] [0]+p_vec[2] [0] ,p_vec[0] [1]+p_vec[2] [1],\\
p_vec[0] [2]+p_vec[2] [2]],
Vector[p_vec[1] [0]+p_vec[2] [0] ,p_vec[1] [1]+p_vec[2] [1],\\

p_vec[1] [2]+p_vec[2][2]],
Vector [p_vec[0] [0]+p_vec[1] [0]+p_vec[2] [0],\\

p_vec[0] [1]+p_vec[1] [1]+p_vec[2] [1],p_vec[0] [2]+p_vec[1] [2]

+p_vec[2] [2]]1]

co = [[0,1],[0,2],([0,3],[1,4],[1,5],[2,4],

20



(2,6],[3,51,[3,6],0[4,7],[5,7]1,[6,7]]
for i in 0..co.length-1 do
half_v = (togalcol[i] [0]]+togalco[i]l [1]])*0.5
tmp = togalco[i] [0]]-togalcol[i] [1]]
if tmp[1] < O then
#dir_vec=togalco[i] [1]]-togalco[i] [1]]
dir_vec = tmpx*(-1)
else
dir_vec=tmp
end
x=dir_vec[0]
y=dir_vec[1]
z=dir_vec[2]
aa=1/sqrt (xx*2+y**2+z%*2)
x1l=x*aa
yl=y*aa
zl=z*aa
bl=-asin(z1)
al=acos(x1/cos(bl))
a2=al1*180/PI
b2=b1*180/PI
filel.printf ("make_wireframe(%7.5f,%7.5f,%7.5f,%7.5f,%7.5f,%7.5£);\\
\n",half_v[0],half_v[1],half_v[2],b2,a2,(1/aa)/2)
end

end

wire_frame(p_vec,filel)

gobbbbbbouooooooobbbbboouooooobbbo
gobobboobbouodoooooboobboougoooooboo
gbbbooobobbboooobbbuooobbboood

filel.print <<"EOB"

select -r nurbsSpherel8 nurbsSpherel9 nurbsSphere20 nurbsSphere2l
nurbsSphere22 nurbsSphere23 nurbsSphere24 nurbsSphere34

nurbsSphere35 nurbsSphere36 nurbsSphere37 nurbsSphere38 nurbsSphere39
nurbsSphere40 nurbsSphere50 nurbsSpherebl nurbsSphereb52
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nurbsSphereb3 nu

nurbsSphere66 nu
nurbsSphere70 nu
nurbsSphere75 nu
nurbsSphere79 nu
nurbsSphere92 nu
nurbsSphere96
nurbsSpherel09 n
nurbsSpherel22 n
nurbsSpherel26 n
nurbsSpherel39 n
nurbsSpherel43 n
nurbsCylinder38
nurbsCylinder4?2
nurbsCylinder46
nurbsCylinder65
nurbsCylinder69
nurbsCylinder73
nurbsCylinder87

nurbsCylinder91

rbsSphereb4
rbsSphere67
rbsSphere71
rbsSphere76
rbsSphere80
rbsSphere93

urbsSpherel10
urbsSpherel23
urbsSpherel27
urbsSpherel140
urbsSpherel44
nurbsCylinder39
nurbsCylinder43
nurbsCylinder47
nurbsCylinder66
nurbsCylinder70
nurbsCylinder74
nurbsCylinder88
nurbsCylinder92

nurbsSpherebb
nurbsSphere68
nurbsSphere72
nurbsSphere77
nurbsSphere90
nurbsSphere94

nurbsSpherelll
nurbsSpherel24
nurbsSpherel28
nurbsSpherel41

nurbsCylinder40
nurbsCylinder44
nurbsCylinder48
nurbsCylinder67
nurbsCylinder71
nurbsCylinder75
nurbsCylinder89
nurbsCylinder93

nurbsSphereb6
nurbsSphere69
nurbsSphere74
nurbsSphere78
nurbsSphere9l
nurbsSphere95
nurbsSpherel06 nurbsSpherel07 nurbsSpherel08
nurbsSpherell12
nurbsSpherel2b
nurbsSphere138
nurbsSpherel142
nurbsCylinder36 nurbsCylinder37

nurbsCylinder4l
nurbsCylinder45
nurbsCylinder64
nurbsCylinder68
nurbsCylinder72
nurbsCylinder76
nurbsCylinder90
nurbsCylinder94

nurbsCylinder109 nurbsCylinder110 nurbsCylinderl1l

nurbsCylinder112nurbsCylinder113 nurbsCylinder114

nurbsCylinder115
nurbsCylinder118
nurbsCylinder121
nurbsCylinder124
nurbsCylinder127
nurbsCylinder130
nurbsCylinder133
nurbsCylinder146
nurbsCylinder149
nurbsCylinder152
nurbsCylinder168
nurbsCylinder171

nurbsCylinder116
nurbsCylinder119
nurbsCylinder122
nurbsCylinder125
nurbsCylinder128
nurbsCylinder131
nurbsCylinder134
nurbsCylinder147
nurbsCylinder150
nurbsCylinder166
nurbsCylinder169
nurbsCylinder172
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nurbsCylinder117
nurbsCylinder120
nurbsCylinder123
nurbsCylinder126
nurbsCylinder129
nurbsCylinder132
nurbsCylinder145
nurbsCylinder148
nurbsCylinder151
nurbsCylinder167
nurbsCylinder170
nurbsCylinder173



nurbsCylinder174
nurbsCylinder191
nurbsCylinder194
nurbsCylinder197
nurbsCylinder209
nurbsCylinder212

nurbsCylinder189
nurbsCylinder192
nurbsCylinder195
nurbsCylinder207
nurbsCylinder210

nurbsCylinder213 ;

nurbsCylinder190
nurbsCylinder193
nurbsCylinder196
nurbsCylinder208
nurbsCylinder211

I

group;

camera -centerOfInterest 5 -focallength 35 -lensSqueezeRatio 1 \\
-cameraScale 1 -horizontalFilmAperture 1.41732 -horizontal\\
FilmOffset O -\verticalFilmAperture 0.94488 -verticalFilmOffset O\\
-filmFit Fill -overscan 1 -motionBlur O -shutterAngle 144\\
-nearClipPlane 0.01 -farClipPlane 1000 -orthographic 0O \\
-orthographicWidth 30; \\

objectMoveCommand;

cameraMakeNode 2 "";

setAttr "cameral_aim.translateX" O;

setAttr "cameral_aim.translateY" 5;

setAttr "cameral_aim.translateZ" O;

setAttr"cameral.translateX" 0;

setAttr"cameral.translateY" 20;

setAttr"cameral.translateZ" 25;

select -r groupl;

string $pnames[] = ‘1s -sl¢;
select -r cameral;

string $tnames[] = ‘1s -sl¢;
EOB

filel.print <<"EOB"

global proc make_current(string $names[],int
float $tz){

currentTime $c_time;

setAttr ($names[0] + \".tx\") $tx;

setAttr ($names[0] + \".ty\") $ty;

$c_time,float $tx,float $ty,\
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setAttr ($names[0] + \".tz\") $tz;
setKeyframe -at \"tx\" $names[0];
setKeyframe -at \"ty\" $names[0];
setKeyframe -at \"tz\" $names[0];
}

EOB

time = 0

#for 1 in 0..20 do
25.times do |il
filel.printf ("make_current ($pnames,’%d,0,%d,0);\n",time,i)
if (time==1)
filel.printf ("make_current ($tnames,%d,0,11,25);\n",time)
end
1=1+25
time += 1

end

filel.print <<"EOB"

string $pnames[];

$pname = ‘nurbsPlane‘;

sets —e —-forceElement lambert4SG;
scale 15 15 15;

select -r nurbsPlanel;

string $snames[] = ‘1s -sl°;

EOB

1=30
#for j in 21..36 do
j = time+l

24



16.times do |j|

while (i>4)
filel.printf ("make_current ($snames,%d,3.081,%d,-1);\n",j,1i)
#filel.printf ("make_current ($tnames,%d,0,11,35);\n",j)-3.557
i=i-5
J=3+5

end

time += 1

end

filel.print <<"EOB"

select -r nurbsSpherel33 nurbsSphere134 nurbsSpherel35 nurbsSphere136 \\
nurbsSphere149 nurbsSpherel50 nurbsSpherel51 nurbsSpherel152 \\
nurbsSphere153 nurbsSpherel54 nurbsSpherel55 nurbsSpherel56 \\
nurbsSpherel57 nurbsSpherel158 nurbsSpherel59 nurbsSpherel60\\
nurbsCylinder182 nurbsCylinder184 nurbsCylinder187 nurbsCylinder199 \\
nurbsCylinder201 nurbsCylinder202 nurbsCylinder203 nurbsCylinder204 \\
nurbsCylinder205 nurbsCylinder206 nurbsCylinder215 nurbsCylinder217 \\
nurbsCylinder218 nurbsCylinder219 nurbsCylinder220 nurbsCylinder221 \\
nurbsCylinder222 nurbsCylinder223 nurbsCylinder224 nurbsCylinder225 \\
nurbsCylinder226 nurbsCylinder227 nurbsCylinder228 nurbsCylinder229 ; \\
group;

select -r group2;

string $gnames[] = ‘1s -sl°;

EOB
a=0

#for k in 37..80 do
30.times do |1il

if(i==0 || i==29)
filel.printf ("make_current ($gnames,’%d,%d,0,0);\n",time,a)
if (i==29)
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filel.printf ("make_current ($tnames,%d,0,11,25);\n",time)
end

end

a=a+3

time += 1

end

1=0

m=71

#for m in 81..130 do

56.times do |il
z=25%cos (1*xPI/180)
x=25*sin(1*PI/180)
filel.printf ("make_current ($tnames,%d,%7.5f,11,%7.5f);\n" ,time,x,z)
if(i<20 || i>40)

1=1+5

end
time += 1

end

p=11
#for n in 131..150 do
36.times do |il
z=25*cos (1*PI/180)
x=25*sin (1*PI/180)
filel.printf ("make_current ($tnames,%d,’%7.5f,%7.5f,%7.5f) ;\n",time,x,p,z)
if (i<18)
p=p+1
else
p—=1
end
1=1+5
time += 1

end
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20.times do |il

z=25%cos (1*xPI/180)

x=25*sin (1*PI/180)

filel.printf ("make_current ($tnames,%d,%7.5f,11,%7.5f);\n" ,time,x,z)
# 1f(i<20 || i>40)

1=1+5

# end

time += 1
end

p time

filel.close
exit!

3.1.2 MELUOUOODOOOODOO

MELOOOOOODOOODOOOO
gobbobobbbouoooooobbbbobbodooooooboboon
OOMAYAOODOODODOODODODOOOODOOOODOODOO 110
OO0bo0oOobOodDbDlambert 00 OO0OOOODOOODOOODOODOOOO
gooood

setAttr "lambertl.color" -type double3 1 1 O;

Oo0oOoOOoObObObObO0O0000O0Olambert 00O OO0 QOOOOOOO
lambert OO OOOO020000000000000

shadingNode -asShader lambert;

sets -renderable true -noSurfaceShader true -empty -name lambert2SG;
connectAttr -f lambert2.outColor lambert2SG.surfaceShader;

select -r lambert?2;

setAttr "lambert2.color" -type double3 1 1 1;
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gobouobbuobdgbobobuobobobobboboooobobo
OO00O0O0O0O0O0O0O0O0O0O0O0O0O0OObbDbODbDDDDODDOS;C eylinder,wireframe
gobbbobobobououooogobbbbouoooooobboob
gooobooooooo

global proc make_Si(float $x,float $y,float $z)
{

sphere;

scale 0.5 0.5 0.5;

move $x $y $z;

}

global proc make_C(float $x,float $y,float $z)
{

sphere;

scale 0.5 0.5 0.5;

move $x $y $z;

sets —-e —-forceElement lambert3SG;

}

global proc make_cylinder(float $x,float $y,float $z,float $b2,float $a2)
{

cylinder;

scale 1.0 0.2 0.2;

move $x 3y $z;

rotate 0 $b2 $a2;

sets -e —-forceElement lambert2SG;

}

global proc make_wireframe(float $x,float $y,float $z,float $b2,\\
float $a2,float $sa)

{

cylinder;

scale $sa 0.05 0.05;

move $x $y $z;

rotate 0 $b2 $a2;

sets -e —-forceElement lambert6SG;

}
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gbobobuobodoobobuogbbobuoooobobuboxbyy
UzO0000D0O0OO0O0O0OO

make_Si(0.00000,0.00000,0.00000) ;

make_C(0.00000,1.89090,0.00000) ;

make_cylinder(0.00000,0.94545,0.00000,-0.00000,90.00000) ;
make_wireframe(1.54025,5.04240,-2.66780,0.00000,90.00000,5.04240) ;

3.1.3 00O0Oooga

RubyOOOOOOOODODOO0D0O0O0O0ODO0O0ODODDODDODDOOOOOOO
Primitivevectorsd BasisVectorsOOOOOOOOOOOOODOOOO
O00oo0ooooooooooooooooooo-

Primitive vectors

a(1)
a(2)
a(3)

Volume

1.54025500 -2.
1.54025500 2.
0.00000000 O.

82.87874525

Reciprocal vectors

b(1)
b(2)
b(3)

0.32462157 -0.
0.32462157 O.
0.00000000 O.

Basis Vectors:8

Atom

Si

0.00000000

Si

5.04240000

66779992
66779992
00000000

18742035
18742035
00000000

Lattice Coordinates
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.00000000
.00000000
10.

08480000

.00000000
.00000000
.09915913

0.00000000 0.00000000 0.00000000

0.00000000 0.00000000 0.50000000

Cartesian Coordinates

0.00000000 0.00000000 \\

0.00000000 0.00000000 \\



C 0.00000000 0.00000000 0.18750000 0.00000000 0.00000000 \\

1.89090000
C 0.00000000 0.00000000 0.68750000 0.00000000 0.00000000 \\
6.93330000
Si  0.33333333 0.66666667 0.24982500 1.54025500 0.88926664 \\
2.51943516
Si 0.66666667 0.33333333 0.74982500 1.54025500 -0.88926664 \\
7.56183516
C 0.33333333 0.66666667 0.43732500 1.54025500 0.88926664 \\
4.41033516
C 0.66666667 0.33333333 0.93732500 1.54025500 -0.88926664 \\
9.45273516

c-SiCO00nooboooo

Primitive vectors

a(l) = 4.36 0.00000000 0.00000000
a(2) = 0.00000000 0.00000000 4.36
a(3) = 0.00000000 4.36 0.00000000

Volume = 82.87874525

Reciprocal vectors

b(1) = 0.32462157 -0.18742035 0.00000000
b(2) = 0.32462157 0.18742035 0.00000000
b(3) = 0.00000000 0.00000000 0.09915913

Basis Vectors:8

Atom Lattice Coordinates Cartesian Coordinates

Si 0.256 0.25 0.25 0.00000000 0.00000000 0.00000000

Si 0.75 0.25 0.75 0.00000000 0.00000000 5.04240000

C 0.00000000 0.00000000 0.00000000 0.00000000 0.00000000 \\
1.89090000
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C 0.50000000 0.00000000 0.50000000 0.00000000 0.00000000 \\

6.93330000

Si 0.75 0.75 0.25 1.54025500 0.88926664 2.51943516

Si 0.256 0.75 0.75 1.54025500 -0.88926664 7.56183516

C 0.50000000 0.50000000 0.00000000 1.54025500 0.88926664 \\
4.41033516

C 0.00000000 0.50000000 0.50000000 1.54025500 -0.88926664 \\
9.45273516

cH-SiCODO0OO0OO0OoOooonog

Primitive vectors

a(l) = 1.54035000 -2.66796446 .00000000
a(2) = 1.54035000 2.66796446 .00000000
a(3) = .00000000 .00000000 15.11740000

Volume = 124.25290558

Reciprocal vectors

b(1) = .32460155 -.18740879 .00000000
b(2) = .32460155 .18740879 -.00000000
b(3) = -.00000000 .00000000 .06614894

Basis Vectors:12

Atom Lattice Coordinates Cartesian Coordinates

C .00000000 .00000000 .12540000 .00000000 .00000000 \\

1.89572196

C .00000000 .00000000 .62540000 .00000000 .00000000 \\
9.45442196

Si .00000000 .00000000 .00000000 .00000000 .00000000 \\
.00000000

Si .00000000 .00000000 .50000000 .00000000 .00000000 \\
7.55870000
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C .33333333 .66666667 .79190000 1.54035000
11.97146906

C .66666667 .33333333 .29190000 1.54035000 -
4.41276906

C .33333333 .66666667 .45840000 1.54035000
6.92981616

C .66666667 .33333333 -.04160000 1.54035000 -
-.62888384

Si .33333333 .66666667 .66670000 1.54035000
10.07877058

Si .66666667 .33333333 .16670000 1.54035000
2.52007058

Si .33333333 .66666667 .33320000 1.54035000
5.03711768

Si .66666667 .33333333 -.16680000 1.54035000
-2.52158232

3.2 UOOOO0OO0

032000000000000003C4H,6H-SiCO00O000O (11-
20)000000000000
30-SiC0000000ABCOODODODODOO
6H-SiCO00O0D000 ABCACBODDDODODODOO
AH-SiIC 0000000 ABACODODODODOOOO
SiCO 3C4H,6HO000000000004000000000000
0000000000000 00000000000000000000
00000000000000000000000000000000
0000000000000 0MAYADODODOODODOODOOOOOOOO
000000000000000
MAYADOOOOOODOOOODOOOOOOOOOODOOO0OO0OO0O00O000O
000000000000 00000000000000000000
00000000000000000 ball0 stick00OOO0DO0O0O00O0O
000000000000000000000000000
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.88932149 \\

.88932149 \\

.88932149 \\

.88932149 \\

.88932149 \\

-.88932149 \\

.88932149 \\

-.88932149 \\
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ABCSE BT ABCABCA ABC.&BC_!
3 6H 4

0 3.2: 3c,4h,6h 00000 ((11-20000000)000.

3.3 MAYAQOODOSiICOOOOO
3.3.1 3C,4H,6H-SiC

0330 3C-siCO000gooogoon.3c-sicd 4H,6H0000,0
OO0003000000000. 000 ballO SiODODO ballDb CODOO
gobbbobbouuooooobbbboooooooobbobo
gooboogogoooo.

O340 4H-S5iCOO00000O00ODO0O0O0O 4H-siCO, 000004000
gobobodg.gobbbuoooobbooggooobog.
O3506H-SiICOO0O000O0ODOOODOGH-SiICO, 000006000
gbobobodg.gobbbuoooobbooggooobog.
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033 3C000onog

0 34:4H00000
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3.4 MAYAOOOSiICOOOOO

036004H-SICO00000000004H-SICO0 0000000
3600000000000000060-SICO0000000O0O0OOO
00000000000

(11-2000000 3.60 (ae)J00000(-d) 000000000000
0ooo
(0001)00003.60000000000000000000SICO000
Ssi0 C000000000000000S00C000000

(1-100) 0000 3.60 (b-c)J00000(e-f) 000000000000
0ooo

3.4.1 3C,4H,6H-SiCO (11-20)0000000

3C-SiC O 0O4H-SiC.6H-SiCO 00000000 DOooooooogn
000000000000 (11-2) 0000000 (112000000000
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0 3.6: 4H-SiCO (0001) 000000 (0O0O).

0000(11-20000000000 [6]
00000000000000000000000000000000
0Doooo0o0o0oo
0370000032000000000000ABCO00000000O
0000 MAYADODOOOOOOOOOOOOOO

0 3.8004H-SiCO (11-2000 00000 (112000 000000000
032000000ABACOODO0O0ONODOOOOODOOOOOOO
0 3.9006H-SiCO (11-200000000(11-20000000000000
000000000000000000000000000000 20
Dooooo
032000000ABCACBODNODDDNONONONONONONOOOO
0o

3.4.2 3C,4H,6H-SiCO (0001) 0000000

(11-2)000000000000 (111)0000000 (0001) 00 0
0000000O0(000)0000000003.100000
SiC0000000000003C-SiCO Si00Cc0000000000
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0 3.7: 3C-SiCO (11-2000000000.

0 3.8: 4H-SiCO (11-20)0000000O.
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0 3.9: 6H-SiCO (11-200)0000000.

OO0bO0031o0oboocoooboobooboooobooosiog
gooo

0 3.110 4H-SiCO (0001) 00000 0O(0001) 000000000000
glr1gocobooooopooosc-sicognoooonpoonoon sio
goooo

0 3.120 6H-SiCO (000)ODOOOOgd(oo)oooooooooooo
J2000000COOD000O0OO00O0ODOO0obOOobOOoOoOoSsioogn
HEN

3.4.3 3C,4H,6H-SiCO (1-100) OO0 OO0OO

0000000000000 000 (110)0o0oggoo (1-100)00
O000000000(1-100) 000000000 3130000
03.13000ABOOOO0O0ODOOOOOOODOOOO
0 3.14004H-SiCO (1-100)000000(1-1000)0 000000000
OOoooABOOODOOOOOODOODODOO
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O 3.10: 3C-SiCO (0001)ODO0O0OOOO.

0O 3.11: 4H-SiCO (o00l)DODOODOOO.
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0 3.12: 6H-SiCO (0001)DODOODOOO.

0 3.15006H-SiCO (1-100) 000000 (1-10000 000000000
OOoooABOOODOOODOOODOODODOO
O0000(1-10000003C4H,6H-SiICO 000 ABOOOOODOOOO
gbooboogoon

3.5 TioOgoog

TiDODOOOO hepOOOODODOO12000 SiICOOODODOOO
stickUDODOO0OO0O0OD0OO0O0O000O0O0bO00o0oogooobooon
ObTiobhoboooboooooooboooong
03160000
obobdboboobobooboboooobostieckbbgboogno
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0 3.13: 3C-SiCO (1-100)0ooOoOoOO.

O 3.14: 4h-SiCO (1-100)000000O.
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0 3.15: 6h-SiCO (1-100)0000000O.

gobobooooobobooon
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0 3.16: Tigoogo.
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40 OO0

SiCcOO0O0OD0O0bDO0ob0O0OO0 MAYAOOODOODODODOoDboooooo
gbooooao

e JODUIDOUODOOUODRuyODODOOOMELODODOODOOODO
0000000000000 MAYAOODOOOOODOO MEL
obooboooooboboobobooooMELOOOODODODO
goobobobobobobooooboboboobobobog
OO0O0ORubyOOOOOOOOOOOOOOOOOODOODOOD
OO0 EmacsUO0 00000000000 0ODOOO0OO0RubyOOO
gbboboooobboooobbbuooobobboood

e SICOUODUODDOOODODODOOOUDODODLOODODLO
gbgbobobooboobuooobooboboobuooboon
gbbodgbuogobboooboobbubbuoobboogoo
gbobogouogobuodgboooboobbuooobobooonbg
gboboboooobbobooon

e OUUODLDUODLDDUODLODLOUOODLDOODLDOUOODLOOODO
OO0D00DO00O0OMedeADODODOOODODOODOODOODOO
gbbobogbbodbboobboobbuoobbuoobbd
OO00000bO0O00OMAYADOOOOUODOODOoOoOoooooo
gboboboodobbugobbodgbooooobbooooboo
gbobodgoboogbbogbbuobbuooboobuooooo
OO0 ballO stick OO ODOODOODOODOODOODODODOODOOD
gbooboogoboood

e JUIDUODLDUODLUODLDOODOODLUODLUODLOODLOOO
OooboooMSEQOOODOOOOODOObOOoDOOoobDOooooD
OO00o0oobobooobooMAYAOODODOODOOOoooooo
gbobbuoogbobbboooobbbooaooboo
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